GAS STATICO CARCASSA

RNO S90 GN2/1

FO

Tav. 560019600M00P00




FORNO S90 GN2/1 GAS STATICO CARCASSA - FORNO GAS_GN2/1_IPERLOTUS

I S S B
533033800 MOLLA FISS.BULB.04/@5 PINZA BR.
536010801 GUARNIZ.FORNO GN2/1
531036600 PORTAGRIGLIA FORNO S90 SX
531036300 GRIGLIA FORNO GN2/1 S90
531036500 PORTAGRIGLIA FORNO S90 DX
544409900 SUOLA FORNO GAS GN2/1 S90




FORNO S90 GN2/1 GAS STATICO CARCASSA
Tav. 560019700M01P00

539018800

539018800
539023900 537002800

539023800

*kkk

536034500
539062100

531024800

539054200

@=+—533039100

(@=—533018500

533039300

*k%k
533010800

547013900

533018600
533018500

533023300 533041800

537008300

544362100
544362200 @

544362400 s 531004700

)

Q 533053000
*%*

K 533010900

531025600
533039300
533010800

* k% | kkk |kkk%k

S3yriomear |533020500(533015200(533069700(531031600

G30-  50mbar  1533020500(533030600{533069400(531033800

G20-  20mbar
Cor. Sambet |533020600|533056100|533069700 (531031600

G20 20mbar | 533020600|533056100|533069400|531033800

G25- 20mbar |533020600(533056300|533069400(531033800

N2> 2R 533020600(533056200(533069700 (531031600

560019700M01P00



FORNO S90 GN2/1 GAS STATICO CARCASSA - FORNO GAS_GN2/1_IPERLOTUS

539018800 INDICE MAN.C/VANO ETICHETTA
539023900 ET.AD.IND.TEMPERATURA FORNO
536034500 MANOP.077 4 P.08X6,5 NERO
539062100 DISC.72.FORN.S70 G.ST.RUB.F
539054200 BOLLINO 920,3 CR."L" LOTUS R.
533010800 DADO ES.X BIC.@10 M16X1,5
533039300 BICONO @10

533018500 RACC.BIC.006 M10X1

533039100 BICONO @06

537002800 PIEZOELETT.M18X1,5 C/D
539063300 DISC.72. TYMER MECCANICO
536034400 MANOP.077 4 P.006X4,6 NERO C/M
531024800 TIMER MECCANICO 120'
539023800 ET.AD.IND.TYMER FORNO
539018800 INDICE MAN.C/VANO ETICHETTA
547013900 CAV.AT TUB.@2 -TUB.92 L1400
533018600 RACC.CANDELA @7 M10X1
533018500 RACC.BIC.006 M10X1

533023300 BICONO PILOTA 0140 @06
533041800 TC G.UNI 1500

537008300 CAND.ACC.PERN.M@2.4 ELETTR.LUNGO
533085200 DIST.CANDELA PILOTA

533023200 PILOTA 0140 1F RACC.TERMOC.TP
544362100 DEFL.SUP.BRU.FORNO S70
544362200 DEFL.SUP.PILOTA FORNO S70
544362400 DEFL.LAT.PILOTA FORNO S70
544362300 DEFL.LAT.BRU.FORNO S70
531004700 BRU.FORNO GN2/1 S70

533010800 DADO ES.X BIC.O10 M16X1,5
533039300 BICONO 910

531025600 RACC.PORTAINIETT.90°CANN.@10M16
533010900 DADO ES.M14X1 OT

533053000 BOCCOLA REG.ARIA @18 EST.ALT.38
533020500 UGELLO PILOTA 0140 ©19 LUNGO
533020500 UGELLO PILOTA 0140 @19 LUNGO
533020600 UGELLO PILOTA 0140 @27 LUNGO
533020600 UGELLO PILOTA 0140 @27 LUNGO
533020600 UGELLO PILOTA 0140 @27 LUNGO
533020600 UGELLO PILOTA 0140 @27 LUNGO
533015200 INIETTORE CH12X14,0 @145
533030600 INIETTORE CH12X14,0 @125
533056100 INIETTORE CH12X14,0 03220
533056100 INIETTORE CH12X14,0 3220
533056300 INIETTORE CH12X14,0 @240
533056200 INIETTORE CH12X14,0 @230
533069700 BY-P.RUB.25ST @075

533069400 BY-P.RUB.25ST @065

533069700 BY-P.RUB.25ST @075

533069400 BY-P.RUB.25ST @065

533069400 BY-P.RUB.25ST @065

533069700 BY-P.RUB.25ST @075

531031600 RUB.GAS 25ST P.O.BY-P.0075 TER
531033800 RUB.GAS 25ST P.O.BY-P.@065 TER
531031600 RUB.GAS 25ST P.O.BY-P.0075 TER
531033800 RUB.GAS 25ST P.O.BY-P.?065 TER
531033800 RUB.GAS 25ST P.O.BY-P.9065 TER
531031600 RUB.GAS 25ST P.O.BY-P.0075 TER




